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1 :Êldf\ d]Bi hggf\u tzls[ _______ cmi k[p 

(A) x]s~L5\0 (B) imLg (C) uef"xi (D) v\0L5\0 
 

2 _______ v[ uef"xigf 5mqf6g[ afËf hggf\um ;fy[ hm0t]\ v[s 5m,f6 k[p 

(A) x]s~L5\0 (B) uef"xi  (C) imLg (D) v\0L5\0 
 

3 _______ t[ d]BiTj[ :gfi]vmg]\ ag[,]\ v[s v\u k[p 

(A) uef"xi (B) imLg  (C) x]s~L5\0 (D) v\0L5\0 
 

4 _______ 5[xfagl smy/l vg[ d/fxi jRr[ zc[ k[p 

(A) imLg (B) x]s~L5\0 (C) uef"xi (D) v\0L5\0 
 

5 uef"xig]\ d]b __________ df\ b},[ k[p 

(A) x]s~L5\0 (B) imLg (C) v\0L5\0 (D) d/fxi  
 

6 dfL;s Kt]df\ a[;jf df8[ ________ cmj]\ hÍzl k[p 

(A) v\0fxi  (B) imLg (C) uef"xi (D) d/fxi 
 

7 v\0fxig]\ sn ________ ;[dl cmi k[p 

(A) 3  3  2 (B) 3  3  3 (C) 3  2  1 (D) 3  4  6 
 

8 v\0fxigm vfsfz ________  cmi k[p 

(A) ,\aum/ (B) rmz; (C) um/ (D) LÊsm6 
 

9 a[ v\0jfLcgl h[ ,ueu _________  ;[dl h[8,l ,f\al cmi k[p 

(A) 5 (B) 10 (C) 15 (D) 20 
 

10 5]Btj:yfdf\ ______ gm Ljsf; yfi k[p 

(A) ue" (B) imLg (C) v\0smqf (D) :tg 
 

11 ________ 5~Ls~ifg[ dfL;s Kt]:Êfj ;fy[ ;lw[;lwf ;\a\w k[p 

(A) ue"wfz6 (B) uef"xi (C) x]s~L5\0 (D) d/fxi 
 

12 dfL;s Kt]:Êfj La,s], g vfjtm cmi tm t[g[ _______ g 56 zc[p 

(A) ue" (B) Kt]sf/ (C) d}Êfxi (D) x]s~L5\0 
 

13 dm8[efu[ v\0alh k}8]\ 50jfyl dfL;s vfjjfgm ;diuf/m _______ Lnj; h[8,m cmi k[p 

(A) 12 (B) 14 (C) 16 (D) 18 

 
 



14 5]z]qfalh ;dfud 5kl ,ueu _______ Lnj; ;]wl ÔLjt zcl xs[ k[p 

(A) 1 yl 2 (B) 2 yl 3 (C) 3 yl 4 (D) 4 yl 5 
 

15 __________ g[ :Êlgm alhm hGd u6jfdf\ vfj[ k[p 

(A) uef"j:yf (B) i]jfj:yf (C) ;dfud (D) imLg 
 

16 ;uef"j:yfgm _______ ta”m :Êlalh vg[ 5]z]qfalhgf Ld,gyl 12 v9jfL0if ;]wlgm cmi k[p 

(A) 5~yd (B) Lßtli (C) t'Lti (D) rt]y" 
 

17 ;fdfGi zlt[ uef"wfggf Lnj;yl 5~;j ;]wlgm uf/m ______ Lnj;gm cmi k[p 

(A) 250 (B) 260 (C) 270 (D) 280 
 

18 uef"j:yf nzLdifg k v9jfL0if 5kl :Êlg[ jfz\jfz _______ hj]\ 50[ k[p 

(A) 0f|s8zl t5f; (B) 5[xfa (C) ;\0f; (D) dfL,; szfjjf 
 

19 ________ yl af/sgf wasfzf ;f\e/l xsfi k[p 

(A) df.s~m:sm5 (B) :8[ym:sm5 (C) n}zLag (D) cfy o[zjjfyl 
 

20 ;uef"j:yf nzDifg :Êlvm _______  g szj]\ hm.v[p 

(A) jw] bmzfs (B) w]d~5fg (C) nm0j]\ (D) s;zt 
 

21 efzt n[xdf\ ;f{yl jwfz[ Î\rm d'Ti]vf\s __________ gm k[p 

(A) af/sm (B) i]jfgm (C) ;uef" dftfgm vg[ gjhft Lxx] (D) :Êlvm 
 

22 d[,lgm efu jwfz[ glr[ cmi tm _______ sc[jfip 

(A) ;fdfGi uef"j:yf (B) hmbdl uef"j:yf 

(C) Lag hÍzl uef"j:yf (D) Ê6[idf\yl v[s56 gcl\ 
 

23 ;uef"j:yf nzDifg s], jhg jwfzm _________ Ls,m cmi k[p 

(A) 5 yl 10 (B) 10 yl 11 (C) 11 yl 13 (D) 14 yl 16 
 

24 jw] 50tf jhg jwfzfyl ______ gm ;\xi zc[ k[p 

(A) tf6 (B) alp5lp (C) s[G;z (D) d[,[Lzif 
 

25 ;uef" :Êlg]\ glr[g]\ naf6 __________ sztf\ jwfz[ cmi tm 5~lv[s,[Difxlifgl Lgxfgl u6fip 

(A) 60 (B) 80 (C) 85 (D) 90 
 

26 ;uef" dftfvmg[ __________ z;l vjXi d}sjl hm.v[p 

(A) wg]z Ljzmwl (B) c0sjf (C) BCG (D) ,mctTj 
 

27 wg]zgf Ôjf6]\ _________ ;3g zlt[ o[,fi[,f cmi k[p 

(A) 5f6l (B) bmzfs  (C) cjf (D) Ê6[idf\yl v[s56 gcl\ 
 

28 xÍvftgf _________ dLcgf nzLdifg ;uef"v[ d];fozl szjl g hm.v[p 

(A) v[s dLcgf (B) a[ dLcgf (C) Ê6 dLcgf (D) rfz dLcgf 
 

29 ;uef"j:yf nzDifg ________ 5nfym" bmzfsdf\ g ,[jf hm.v[p 

(A) u?if (B) dm/f (C) t{,l vg[ tlbf (D) tlbf  
 

30 ;uef" dftfg[ Lnj;df\ vmkfdf\ vmk\] _______ %if,f 5f6l 5lj]\ hm.v[p 

(A) 5 yl 6 (B) 6 yl 8 (C) 8 yl 10 (D) 7 yl 10 
 

31 ;uef" nzDifg nz[s dftfv[ 5c[,f Ê6 dLcgfdf\ _______ jbt 0f|s8zl t5f; szfjjl hm.v[p 

(A) v[s (B) a[ jbt (C) Ê6 (D) rfz  
 

32 5f\0]zmu yjfg]\ v[s dcTjg]\ sfz6 _________. 

(A) 5mqf6gl P65 (B) jw] 50tl Î\3 (C) jw] 50tm bmzfs (D) ;fzjfzgm vefj 
 

33 5f\0]zmu yjfyl af/sgm Ljsf; ________ k[p 

(A) j3[ (B) Í\wfi (C) v8sl hfi (D) Ê6[idf\yl v[s56 gcl\ 
 

34 ;uef"j:yf nzDifg ,mclg]\ naf6 _______ s[ jw] cmip 

(A) 140/70 (B) 140/70 (C) 140/90 (D) 140/80 
 

35 dftfg[ b[\r vfjjfyl ________gl ts,lo y. xs[ k[p 

(A) Ls0gl (B) o[o;f (C) duh  (D) Ëni 
 

36 0fifLa8l;g[ u]hzftdf\ __________ sc[jfip 

(A) tfj  (B) Ënizmu (C) duhgm tfj (D) dw]5~d[c 
 



37 _______gf nnl"g[ 5[xfa 5l/m yfi k[p 

(A) sd/m (B) d[,[Lzif (C) Ënizmu (D) s[G;z 
 

38 ________ v[ dRkzyl o[,ftm zmu k[p 

(A) sd/m (B) d[,[Lzif (C) Pwz; (D) b[\r vfjjl 
 

39 d[,[Lzifyl ________ 5z ;mhm vfjl xs[ k[p 

(A) 5u (B) cfy  (C) azm/ vg[ ,ljz (D) d}Êfxi 
 

40 HIVyl s[8,lsjfz ;uef" dftfg[ ________ y. xs[ k[p 

(A) ue"5ft (B) ,mclgl P<8l (C) tfj  (D) Ls0gl 5z v;z 
 

41 L0cf.ú[xg v[8,[ _________. 

(A) P<8lvm yjl (B) tfj vfjjm (C) 5ugm n]Obfjm (D) xzlzg]\ 5f6l vmk] yj]\ 
 

42 o[o;fgm 1fi zmu ________. 

(A) ,f\af ;diyl b}a h Pwz; yfi (B) jfz\jfz ;\0f; yfi 

(C) jfz\jfz P<8l yfi (D) jfz\jfz P\3 vfj[ 
 

43 dm8[efu[ d[,lgm efu _______ df\ P5z zc[,m cmi k[p 

(A) 5[8 (B) d]Êfxi (C) duh (D) uef"xigl smy/ldf\ 
 

44 d[,lgm efu glr[ cmjfgf _____ 5~sfzm k[p 

(A) v[s (B) a[ (C) Ê6 (D) rfz  
 

45 hifz[ d[,lgm efu ;]jfj0 yif 5c[,f\ k}8m 50[ t[g[ ______ sc[jfip 

(A) Abnormal (B) Abruptio Placentra (C) Absent Mind (D) Absent Peace 
 

46 hifz[ uef"xig]\ af/s 20 v9jfL0if 5c[,f\ 50l hfi tm t[g[ ________ sc[jfip 

(A) ue"5ft (B) ue"jfLcgl (C) v\0 50i]\ (D) alhzm56 
 

47 hifz[ ue"gl w0sg g cmi4 ue" v\nz dz6 5fDim cmi t[g[ _______ sc[jfip 

(A) Complete Abortion (B) Inevitable Abortion 

(C) Missed Abortion (D) Septic Abortion 
 

48 _________ df\ v[s8m5ls 5~[Ug[G;lgm Ljsf; y. xs[ k[p 

(A) v\0L5\0 (B) uef"xi (C) d}ÊL5\0 (D) Ënigl glr[ 
 

49 vf56f n[xdf\ nz v[s chfz ;]jfj0df\ _________ dftfg]\ dz6 yfi k[p 

(A) 3-6 (B) 4-5 (C) 4-6 (D) 6-8 
 

50 ;]jfj0 5c[,f zst:Êfj yfi tm ______ 5z dms,jfp 

(A) nfi6 5f;[ (B) ;fd}Lcs vfzmUi s[GÌ (C) 0f|s8zgl t5f; (D) Ê6df\yl v[s56 gcl\ 
 

 

 

________________ 
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1 5~;}Lt ;di[ sf/Ô zfbjfyl af/s vg[ dftfg[ s. zlt[ arfjl xsfi k[M 

(A) uzdl  (B) 9\0l (C) r[5 vg[ vGi zmum (D) 5jg 
 

2 uef"xig]\ d]b n]Obfjfgf ;di[ vf9 s,fsdf\ s[8,f ;[pdlp b},[ k[M 

(A) 2 ;[pdlp (B) 3 ;[pdlp (C) 4 ;[pdlp (D) 5 ;[pdlp 
 

3 xÍvftdf\ uef"xigm n]Obfjm s[8,f ;[sG0 rf,[ k[M 

(A) 20 ;[sG0 (B) 10 ;[sG0 (C) 15 ;[sG0 (D) 30 ;[sG0 
 

4 af/sgf hGd ;di[ s[8,]\ jhg cmi k[M 

(A) 4 Ls,mu~fd (B) 2 ½  Ls,mu~fd (C) 5 Ls,mu~fd (D) 2 Ls,mu~fd 
 

5 5~;}Ltgl xÍvft jbt[ s[jm :Êfj yfi k[M 

(A) ,f, z\ugm (B) 5f6l h[jm (C) ;o[n (D) vGi 
 

6 5~yd 5~;}Ltdf\ uef"xig]\ d]b xÍvftdf\ s[j]\ yfi k[p 

(A) 5ft/]\ (B) hf0]\ (C) bzar0]\ (D) ,l:;]\ 
 

7 5~;}Ltgl xÍvftdf\ sif 5Lza/m efu ehj[ k[M 

(A) .:åmhg (B) gf.åmhg (C) Lj8fdlg D (D) v[s56 gcl\ 
 

8 uef"xidf\ xfgm Ljsf; yfi k[M 

(A) imLggm (B) d/fxigm  (C) af/sgm (D) v[s56 gcl\ 
 

9 af/s hGd[ Tifz[ x]\ sf5jfdf\ vfj[ k[M 

(A) gb  (B) jf/ (C) gf0 (D) 0}\8l 
 

10 dftfgl ;]jfj0 jbt[ nfi6g[ x]\ vf5jfdf\ vfj[ k[M 

(A) sftz  (B) t[, (C) 5]:ts (D) v[s56 gcl\ 
 

11 uef"xigl t5f; ;di[ s. afat Wifgdf\ zfbjl hm.v[M 

(A) :jRktf (B) u\nsl (C) n}zalg (D) v[s56 gcl\ 
 

12 d]b b],[ Tifz[ dftfg[ 10 LdLg8df\ s[8,f n]Obfjf vfj[ k[p 

(A) 1 yl 2 (B) 3 yl 4 (C) 4 yl 5 (D) v[s56 gcl\ 
 

13 af/sgf wasfzf s[8,l LdLg8[ t5f;jf hm.v[M 

(A) 15 (B) 20 (C) 10 (D) 30 

 
 



14 ;uef" dftfgf d'Ti]g]\ sfz6 si]\ k[M 

(A) zst:Êfj (B) e}bdzm (C) uzdl (D) v[s56 gcl\ 
 

15 dftfgf 5[-]gl t5f; x[gf j0[ szjl hm.v[M 

(A) ;mgmu~fol (B) vf\u/l j0[ (C) cfy j0[ (D) v[s56 gcl\ 
 

16 ts,lo wzfjtl :Êlgl 5~;}Lt sif\ szfjjfdf\ vfj[ k[M 

(A) cmL:58, (B) 3zdf\ (C) a;df\ (D) v[s56 gcl\ 
 

17 af/sgf hGd ;di[ dftfg[ sif\ ;]j0fjjfdf\ vfj[ k[M 

(A) 8[a, P5z (B) bf8,df\ (C) 5yfzldf\ (D) v[s56 gcl\ 
 

18 uef"j:yf nzDifg A,05~[xzdf\ x]\ hmjf d/[ k[M 

(A) jwfzm  (B) 38f0m (C) gmd", (D) v[s56 gcl\ 
 

19 5~;}Lt afn 5~yd v9jfL0ifdf\ s[8,]\ 5f6l vmk]\ yfi k[M 

(A) 1 L,8z (B) 2 L,8z (C) 3 L,8z (D) 4 L,8z 
 

20 5[-]gf :gfi]vmgm VV vmkm yjfg[ ,lw[ x]\ yfi k[M 

(A) Hf0f (B) saLhift (C) dz0m (D) v[s56 gcl\ 
 

21 uef"xigl v\nzgl Lnjf,df\yl sim :Êfj yfi k[M 

(A) ,mLsif (B) A,l0l\u (C) 5f6l 50j]\ (D) v[s56 gcl\ 
 

22 0fifLa8lx vg[ 5~m8lggl t5f; df8[ x[gl t5f; szjl hm.v[M 

(A) 5[xfa (B) Hf0f (C) ,mcl (D) v[s56 gcl\ 
 

23 uef"xig[ 5mtfgf d}/ L:yLt 5~f%t sztf s[8,f v9jfL0ifgm ;di ,fu[ k[M 

(A) 2 yl 6 (B) 3 yl 4 (C) 1 yl 2 (D) v[s56 gcl\ 
 

24 5~;}Lt afn uef"xi bf,l yjfyl s[8,]\ jhg vmk]\ yfi k[p 

(A) 3 yl 4 Lspu~fp (B) 5 yl 6 Lspu~fp (C) 10 yl 12 Lspu~fp (D) v[s56 gcl\ 
 

25 uef"j:yf nzDifg uef"xi o},jfgf sfz6[ s. rfd0l b[\rfi k[M 

(A) 5[8gl (B) cfygl  (C) 5ugl (D) v[s56 gcl\ 
 

26 5[8 P5z b\hjf0jfyl x]\ yfi k[M 

(A) ,l;m8f 50[ k[ (B) om0sl gls/[ k[ (C) rfd0l ,a0l 50[ k[ (D) v[s56 gcl\ 
 

27 5~;}Ltgf v[sfn v9jfL0ifdf\ zsts6g]\ 5~df6 s[j]\ hmjf d/[ k[M 

(A) gmd", (B) jwl hfi k[ (C) 38l hfi k[ (D) v[s56 gcl\ 
 

28 5~;}Lt 5kl A,0 5~[xz s[8,l LdLg8[ df5j]\ hm.v[M 

(A) 20 LdLg8 (B) 10 LdLg8 (C) 15 LdLg8 (D) v[s56 gcl\ 
 

29 5~;}Lt afn :Êlgf glr[gf efug[ x[gf j0[ ;fo szjm hm.v[M 

(A) h\t]gfxs njf (B) 0[8m,yl (C) Logf.,yl (D) v[s56 gcl\ 
 

30 5~;}tfg[ s[jf s50f\ 5c[zfjjf hm.v[M 

(A) z[xdl (B) ;]tzfP (C) :jRk (D) v[s56 gcl\ 
 

31 dftf wfj6 vf5tl cmi Tifz[ s[jm bmzfs vf5jm hm.v[M 

(A) 5f{Lq8s (B) ;fLTjs (C) v5}ztm (D) rzaljf/m 
 

32 uef"j:yfgf k[<,f dLcgfvmdf\ x[gf L,ufd[G8; gzd 50[ k[M 

(A) 5[8gf  (B) 5[-]gf (C) 5ugf (D) cfygf  
 

33 vfig"g]\ 5~df6 vmk]\ cmi t[jl :Êlvmv[ x]\ ,[j]\ hm.v[M 

(A) 5~m8lg (B) Lj8fdlg (C) vfig"gl um/vm (D) rzal  
 

34 ;]jfj0 afn s;zt szjfyl x]\ 38f0l xsfi k[M 

(A) jhg (B) sdzgm n]Obfjm (C) Î\rf. (D) v[s56 gcl\ 
 

35 5~;}Lt afn 3f8f 5l/f z\ugf 5~jfclg[ x]\ sc[ k[M 

(A) n}w (B) wfj6 (C) blz] (D) 5f6l 
 

36 wfj6 PT5Gg sztl u~\Lyvmgf Ljsf;df\ si]\ 5Lza/ hmjf d/[ k[M 

(A) .:åmhg (B) Lj8fdlg (C) 5~m8lg (D) rzal  

 
 



37 rzal 5~m8lg vg[ :8fr" x[df\ hmjf d/[ k[M 

(A) n}wdf\ (B) wfj6df\ (C) 5f6ldf\  (D) v[s56 gcl\ 
 

38 dftfg]\ n}w s[j]\ cmi k[M 

(A) x]ê (B) 5~m8lgi]st (C) 5f{Lq8s (D) ;dtm, 
 

39 dftfgf wfj6yl gjhft Lxx]g[ x]\ yt]\ gylM 

(A) v[,Ô" (B) Hf0f (C) 8f.om.0 (D) sd/m 
 

40 dftfg]\ n}w 5rfjjfdf\ s[j]\ cmi k[M 

(A) efz[ (B) c,s]\ (C) ;z/ (D) v[s56 gcl\ 
 

41 dftfgf n}wgf s[8,f 5~sfz k[M 

(A) a[ (B) Ê6 (C) rfz  (D) 5f\r 
 

42 dftfgf wfj6yl af/sg[ x]\ d/[ k[M 

(A) c}\o (B) bmzfs (C) 5~m8lg (D) rzal  
 

43 5~yd dLcgfdf\ af/sg[ s[8,f u~fd n}w vf5j]\ hm.v[M 

(A) 200 yl 300 u~fd (B) 700 yl 100 u~fd (C) 100 yl 200 u~fd (D) v[s56 gcl\ 
 

44 zst:Êfj a\w g yfi tm smg[ am,fjjf hm.v[M 

(A) nfi6g[ (B) 0f|s8zg[ (C) 5Ltg[ (D) v[s56 gcl\ 
 

45 zst:Êfj 5~;}Ltgf sif ta”fdf\ yfi k[M 

(A) alhf (B) 5~yd (C) Êlhf (D) rmyf 
 

46 uef"xig]\ v;\smrgg] \sfz6 si]\ k[M 

(A) bfdljf/]\ af/s (B) hmL0if af/s (C) Ê6 af/s (D) v[s56 gcl\ 
 

47 ;]jfj0 jbt[ af/sg[ dftf df8[ x[gl hÍz 50[ k[M 

(A) bmzfsgl  (B) s50fgl (C) njfgl  (D) v[s56 gcl\ 
 

48 gf/ sf5jf x[gl hÍz 50[ k[M 

(A) r%5] (B) smzl A,[0 (C) nmzm  (D) sftz  
 

49 uef"xi ;\smrf.g[ s[j]\ ag[ k[M 

(A) 5Yyz h[j]\ (B) 5mr]\ (C) s0s (D) gzd  
 

50 sf5[,l gf/ x[gf j0[ af\w[,l cmi k[p 

(A) nmzf j0[ (B) gfzf;0l j0[ (C) ;}t/l j0[ (D) v[s56 gcl\ 
 

 

 

_________________ 

 



0f|p afaf;fc[a vf\a[0sz vm5g i]LgjL;"8l 

;Êf\t 5zl1ff h],f.O 2014 

;}rgf O 1. tdfd 5~Ègmgf hjfa ozLhift k[p 

 2. hif\ ;]wl b\0Lgzl1fs g h6fj[ Tif\ ;]wl hjfa ,bjfg]\ xÍ szj]\ gLcp 

 3. hjfa5Êsgl 5fk/ vf5[, ;}rgfvm sf/Ô5}j"s jf\Rif afn hjfa ,bjfg]\ xÍ szj]\ 

 4. 5zl1ffyl"vmv[ 5~Èg5Ê vg[ hjfa5Ê a\g[ b\0VLgzl1fsg[ v[s ;fy[ 5zt szjfg]\ vLgjfi" k[p 

vfyl sm.56 5zl1ffyl"v[ 5~Èg5Ê 5mtfgl ;fy[ ,. hjfgm vfu~c zfbjm gLcp 5~Èg5Ê ;fy[ 

,. hgfz LjNfyl" vf 5zl1ff df8[ u[z,fis 9zx[p 

 5. j{sL<5s 5;\nulgf nz[s 5~Èggf Pÿfz df8[ rfz Ljs<5 h6fJif k[p h[df\yl v[s ;frm cmjfgl 

xsitf k[p ;frm hjfa 5;\n szl hjfa5Êsdf\ imUi bfgfdf\ (x) Lgxfgl szmp 

 6. h[ LjNfyl" 5mtfgm ;frm gm\w6l g\az gcl\ nxf"j[ t[g]\ 5Lz6fd zn yx[p 

 

vEif;s~d O ;L8"Los[8 .g d[8zgl8l gL;Õu vf;l:8G8 (CTBA)  gm\w6l g\az O    

5f9is~d O gjhft Lxx] ;\ef/ vg[ s]8]\a Lgimhg (CTBA-03) 

tfzlb  O 22/07/2014 

;di  O 11:00 to 12:30       s], u]6 O 50 

 

 

1 af/sgl Ô\nulgm sim ta”m b}a h gfh]s vg[ dcTjgm cmi k[p 

(A) af/d\Lnz (B) xf/f vj:yf (C) Lxx] (D) gjhft Lxx] 
 

2 60 yl 70% af/ dz6 s. vj:yfdf\ yfi k[M 

(A) Lxx] (B) 6 yl 12 jqf[" (C) 12 yl 15 jqf[" (D) gjhft Lxx] 
 

3 dm8fefu[ af/smg]\ hGd ;di[ jhg s[8,]\ cmi k[M 

(A) 1.5 kg (B) 2.5 kg (C) 3.5 kg (D) 4.5 kg 
 

4 dm8fefugf af/sm hGd 5kl tzt h x]\ sz[ k[M 

(A) c;[ k[ (B) z0[ k[ (C) cfy c,fj[ (D) 5u c,fj[ 
 

5 af/sg]\ xzlz s[j]\ g 50[ t[g]\ Wifg zfbxmM 

(A) 9\0]\ (B) uzd  (C) elg]\ (D) jw] uzd 
 

6 gjhft af/sg[ jc[,l ts[ x]\ vf5j]\ hm.v[M 

(A) af/um/l (B) wfj6 (C) 5f6l (D) n}w 
 

7 gjhft Lxx]df\ x]\ b}a h vmkl cmi k[p 

(A) tfsft (B) ;dhxLst (C) zmu 5~Ltsfzs xLst (D) ,mcl 
 

8 af/s df8[ s[jf s50f\ zfbxmM 

(A) 9\0f (B) elgf  (C) uzd (D) wm.g[ t0s[ ;}sj[,f 
 

9 dftfv[ xÍvftgf n}wg]\ x]\ szj]\ hm.v[M 

(A) af/sg[ vf5j]\ (B) o[\sl n[j]\ (C) jf8sldf\ sf-l zfbj]\ (D) sx]\ h g szj]\ 
 

10 af/sg[ vmkfdf\ vmkf s[8,f dLcgf wfj6 vf5j]\M 

(A) 2 (B) 4 (C) 6 (D) 8 
 

11 ga/f af/sg[ hÍz 50[ tm jw] uzdl vf5jf x]\ szxmM 

(A) ;u0lgm tf5 (B) u[;gm tf5 (C) 100 jm<8gm Ljh/lgm um/m (D) afd ,ufjjm 
 

12 r[5l zmu x[gfyl yfi k[M 

(A) dRkz (B) h\t] (C) a[s8[Lzif (D) dRkz 
 

13 gjhft Lxx]g[ z;l s[jl zlt[ vf5xmM 

(A) ud[ Tifz[ (B) 8f.d 8[a, d]ha (C) 6 dLcg[ (D) 9 dLcg[ 

        
 



14 af/sgf xzlzg]\ tf5dfg Î\r] cmi tm t[g[ glr]\ szjf x]\ szxmM 

(A) 5f6l vf5j]\ (B) dw  (C) u~f.5 jm8z (D) jw] wfj6 vf5j]\ 
 

15 imUi ;di[ x]\ g vf5jfyl af/sg[ vf\rsl vfjl xs[M 

(A) 5f6l (B) wfj6 (C) dw  (D) um/ 
 

16 E.D.D. v[8,[ x]\M 

(A) 5~;}Ltgl wfz[,l tfzlb (B) k[<,l dfL;s tfzlb (C) ue"wfz6 tfzlb (D) jhg  
 

17 dftfgl P\dz h[d h[d jw[ t[d ue"df\ x[g]\ 5~df6 jw[ k[M 

(A) hm0sf\ (B) bm0 bf\56 (C) vmk]\ jhg (D) :Êl hfLt 
 

18 af/s jfz\jfz wfj6 r};jfyl dftfdf\ x[g]\ 5~df6 jw[ k[ M 

(A) s[L<xid (B) 5~m,[Ls8 (C) d[Ug[Lxid (D) 5~m8lg 
 

19 imgldfu"df\ 5~j[x Ljgf ;dfuddf\ x[gm ;dfj[x yfiM 

(A) 5Tgl L5iz (B) wfj6 (C) :5x"4 df:8z a[xg (D) ;\emu 
 

20 Lgzmw x[g]\ ag[,]\ cmi k[M 

(A) %,f:8ls (B) zaz (C) 5ft/m tfz (D) sfu/ 
 

21 Lgzmw sif\ 5c[zjfg]\ cmi k[M 

(A) uef"xi (B) -l,]\ Lxä (C) s96 Lxä (D) imgl  
 

22 Lxä acfz sf-jfg]\ cmi Tifz[ Lgzmw sif\yl 5s0l zfbjfdf\ vfj[ k[ s[ h[yl jli" -/l gcl\M 

(A) Lxägf k[0[ (B) gfbjfgl zl\uyl (C) ud[ Tif\yl (D) jRr[yl 
 

23 Lgzmw sif\yl dot d/[M 

(A) njfbfgf  (B) s]8]\as<if6 s[GÌ 5zyl (C) bfgul n]sfg (D) z[xgl\ugl n]sfg 
 

24 s]8]\as<if6gl 5êLtgf P5imuyl sim zmu o[,ftm v8s[ k[M 

(A) d[,[Lzif (B) r[5lzmu (C) v[.0=; (D) 0[Gui] 
 

25 s~ld4 h[,l4 um/l ju[z[df\ vfj[,]\ 19 gmz vmLsHgm, gfdg]\ z;fi6 x]\ sfd sz[ k[M 

(A) dfL;s :Êfj df8[ (B) 5]z]qf h\t]g[ dfzl gfb[ 

(C) :Êl h\t]g[ dfz[ (D) hfLti ;dfuddf\ vfg\n 
 

26 :5mGÔ 8]0[gl ,\af. s[8,l cmi k[M 

(A) 1 .\r (B) 2 .\r (C) 3 .\r (D) 4 .\r 
 

27 :5mGÔg[ s[jl zlt[ imgldfu"df\ 5;fz szjfdf\ vfj[ k[M 

(A) t[,df\ am/l (B) 5f6ldf\ 5,f/l (C) af/lg[ (D) s50fdf\ Lj8f/l 
 

28 0fifoUdgm vfsfz s[jm cmi k[M 

(A) rmz; (B) LÊsm6 (C) ,\aum/ (D) zsfal h[jm 
 

29 0fifoUdf s[8,f s,fsyl jwfz[ g 5c[zfiM 

(A) 24 (B) 48 (C) 49 (D) 65 
 

30 vf\s0l x[gl ag[,l cmi k[M 

(A) zaz  (B) %,fL:8s (C) sfu/ (D) wft]gf tfz 
 

31 vf\s0ldf\ sim 5nfy" gfbjfyl t[ v[s;Vz[ df\ hm. Xsfi k[M 

(A) 5m8[Lxid (B) a[Lzid ;<o[8 (C) d[Ug[Lxid (D) v[<i]LdLgid 
 

32 vfw]Lgs i]udf\ vf\s0l s[8,l hftgl hmjf d/[ k[M 

(A) v[s (B) a[ (C) Ê6 (D) rfz  
 

33 sif zmugl Ladfzl cmi tm vf\s0l g d}sl xsfiM 

(A) tfj  (B) P<8l (C) Hf0f (D) 0fifLa8l;VËnizmu 
 

34 sif ;didf\ vf\s0l gls/l hjfgl xsitf zc[,l k[p 

(A) dfL;s nzDifg (B) nm0jfyl (C) jw] rf,jfyl (D) s]njfyl 
 

35 ue"Lgzmws um/lvm s[8,l hftgl cmi k[M 

(A) v[s (B) a[ (C) Ê6 (D) rfz  
 

36 sif gfdgl um/lvm s]8]\as<if6 s[GÌmdf\ dot d/[ k[M 

(A) df,fVv[g (B) df,fV0l (C) df,fVjl (D) df,fVv[o 
 



37 5[s[8df\yl um/lvm s[jl zlt[ xÍ szjfgl cmi k[M 

(A) ‘START’,Bi]\ cmi Tif\yl  (B) alÔ um/l (C) ÊlÔ um/l (D) rmyl um/l 
 

38 uef"xigf d]bgf 5f6lgl t5f; g[ x]\ sc[jfiM 

(A) A,0 8[:8 (B) ;]uz 8[:8 (C) Pap Test (D) L;:8z 8[:8 
 

39 ue" Lgzmws .Gh[sxg s[8,f dLcg[ vf5jfgf cmi k[M 

(A) nz Ê6 dLcg[4 a[ dLcg[ s[ dLcg[ (B) k dLcg[ (C) vf9 dLcg[ (D) afz dLcg[ 
 

40 g[8Vv[g gfdg]\ ue" Lgzmws nz s[8,f dLcg[ vf5jfg]\ cmi k[M 

(A) rfz  (B) Ê6 (C) a[ (D) v[s 
 

41 gmz %,fG8 – 2 df\ x]\ cmi k[M 

(A) 5Yyz  (B) um/l (C) 5fj0z (D) a[ ;L/if 
 

42 d[gmz[Ôif v[8,[ x]\M 

(A) ;o[n 5f6l 50j]\ (B) dfL;s jw] vfjj]\ (C) dfL;s a\w yj]\ (D) zst:Êfj 
 

43 si]\ ;fwg jf5if" juz 1 jqf" hfLti ;dfud szjf ktf\i af/s g zc[ t[g[ x]\ sc[ k[M 

(A) j\wTj (B) d[gm5mH (C) 0l:d[gmLzif (D) v\wf5m 
 

44 j\wTjjf/f 5]z]qfg[ x[gl ;,fc vf5l xsfiM 

(A) v\0zj"z 8f.8g 5c[zjf (B) u/56 vmk]\ szjf  

(C) s;zt g szjf (D) Ê6[idf\yl v[s56 gcl\ 
 

45 hfLti zmum x[gfyl o[,fi k[M 

(A) 5jg (B) cjf  (C) :5x" (D) a[s8[LzifVjfiz; 
 

46 umgmsfsf. gfdgf Ôjf6]vmyl sim hfLti zmu yfi k[M 

(A) umgmLzif (B) ;lol;l,  (C) x[Gs8m.0 (D) v[.0=; 
 

47 hggf\umgf s[G;zyl s[8,f 8sf :Êlvmg]\ d'Ti] yfi k[M 

(A) 14% (B) 16% (C) 18% (D) 20% 
 

48 s[G;zgf smqfm P5z v;z szl t[dgm gfx sztl njfvmg[ x]\ sc[ k[M 

(A) Lsdmy[zf5l (B) ;mgmu~fol (C) x[s (D) v[s;Vz[ 
 

49 5~;}tf ac[gmv[ x]\ g szj]\ hm.v[M 

(A) jw] bmzfs (B) rzaljf/f 5nfym" (C) w]d~5fg (D) z;m. 
 

50 s[G;zyl ytf\ d'Ti]gf s[8,f 8sf d'Ti] :Êl hggf\umgf s[G;zyl yfi k[M 

(A) 10% (B) 12% (C) 13% (D) 14% 
 

 
 

_________________ 

 


